
©2008, KEPCO, INC
Data subject to change without notice 228-1388 REV 1

INSTRUCTION SHEET

RFP
KEPCO

KEPCO, INC.  �  131-38 SANFORD AVENUE  �  FLUSHING, NY. 11355 U.S.A. �  TEL (718) 461-7000 �  FAX (718) 767-1102  

http://www.kepcopower.com   �  email: hq@kepcopower.com

An ISO 9001 Company.

INSTALLATION INSTRUCTIONS

FILLER PANEL MODELS

 RFP 19-12, RFP 19-16, RFP 19-18, RFP 19-24, RFP 19-26,
RFP 19-28, RFP 19-38, RFP 19-48, RFP 19-124

Kepco Filler Panel Models listed above are to be used with RA 19-3B, RA 19-4B, RA 19-5B, RA 19-6B, RA 19-7B
and RA 19-8B Rack Adapters. Table 1 lists the dimensions of the filler panels. Attach to rack adapter chassis using
hardware supplied. 
.

 

TABLE 1.   FILLER PANEL DIMENSIONS

MODEL FILLER PANEL
WIDTH

(in.)
HARDWARE

RFP 19-12 1/12 RACK 1.407 2 Screws, 2 Washers

RFP 19-16 1/6 RACK 2.847 2 Screws, 2 Washers

RFP 19-18 1/8 RACK 2.125 2 Screws, 2 Washers

RFP 19-24 1/24 RACK 0.704 See Note 6.

RFP 19-26 1/3 RACK 5.727 4 Screws, 4 Washers

RFP 19-28 1/4 RACK 4.286 4 Screws, 4 Washers

RFP 19-38 3/8 RACK 6.445 4 Screws, 4 Washers

RFP 19-48 1/2 RACK 8.600 4 Screws, 4 Washers

RFP 19-124 1/24 RACK 0.704 2 Screws, 2 Washers (See Note 7.)

NOTES:

1. Material: Aluminum 6061-T6, Finish: Kepco Gray

2. Height: 5.218 in.

3. Thickness: 0.090 in.

4. Screws: #6-32 x 0.312 in., Phillips Pan Head (Kepco P/N 101-0303)

5. Washers: Nylon #6 (Kepco P/N 103-0107)

6. RFP 19-24 attaching hardware is an integral part of the panel. To install, first loosen the two thumb-
screws (rotate counterclockwise). Mount the RFP 19-24 so the back of the panel is flush with the rack
adapter, and the vertical edges are aligned with the adjacent power supply or the edge of the rack adapter,
then tighten the thumbscrews. To remove the panel, loosen the two thumbscrews.

7. Used on RA 19-5B only.


